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Using G*power with Lab 3

1. Double click on the icon that says gpower.exe
The program will give you a little opening window so click on OK and the you’ll get a disclaimer window so click on OK again.
2. In the main window, click on the word Tests in the upper left corner and then click on F-test (ANOVA) 
3. We first need to calculate the effect size.  G*power wants the effect size as a measure f (Cohen’s f) and is defined as:


[image: image1.wmf]2

2

f

1

h

h

=

-


For our example the 
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Or we can have G*power calculate it for us by clicking on the Calculate Effect Size button.  In the new window make sure there are 4 groups, sigma is 1.603 (this is the sqrt of the MSerror from the ANOVA), means are 2.4, 3.9, 4.8, 3.2 and all of the sample sizes are 10.  And then click on the Calc & Copy button.

4. Set alpha at .05, power at .80 and the number of groups are 4.  Hit enter on you keyboard to get the estimate of the total sample size.

5. Click on Graph and click on Calculate, what does this graph tell us?

6. Try using both methods of estimating f and see if there is a difference.  Any difference is due to the fact that G*power estimates the effect while we calculated it directly. 

7. Try using different alphas and power levels to see how this effects the estimate of the number of subjects.

8. When you’re done click on Alt X on the very bottom left.  If you want to save specify a file name and click on save.  If not, just click on discard.

Note: lambda is defined as 
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 and is known as the non-centrality parameter.
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